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x10 quartetwize_asym( 10 quariebwise_beamD_asyrmb
— _ Entries 256034 — _ Entries 256034
230 — Mean 27.21 230 — Mean 27.21
| Std Dev  1.76e+04 | Std Dev  1.76e+04
200— 200—
150 . 150 .
100 — 100|—

50— 50—
ll::l_llllllllI|IIII|IIII|IIII|IIII|IIIIIIIIIIII::"Z-H:?El lm_llllllIII|IIII|IIII|IIII|IIII|IIII|IIII|II.'-"FJ'“:}::.l
-3000 2000 1000 0 1000 2000 3000 4000 -3000 2000 1000 0 1000 2000 3000 4000

gHelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000) gHelNSamples0)|PosHelAceO/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)

Run 5113 gquartetwise, Asyms0 (Raw): Beam ON, Laser ON Run 5113 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

guansiwisa baami last asymi quamstwiza baomi losl asymi
Entries 0 Entries 0
Mean 0 Mean 0
Std Dev 0 Std Dev 0




24000
22000
20000
18000
16000
14000
12000
10000
BOOO
6000
4000
2000

Run 5113 quartetwise, Diffs0: All
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Run 5113 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON
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Run 5113 quartetwise, NegHslAccl/NSamples0: Beam ON, Laser OFF
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Run 5113 quartetwise, PosHelAccO/NSamples0d: Beam ON, Laser ON
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Run 5113 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5113 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

quamstwiza baomi lnsl poskHs
Entries 0
Mean 0
Std Dev 0




14000

12000

10000

BO0D

G000

4000

2000

Run 5113 quartetwise, Sums0: All
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